lambda flHz unv E/J
950 3,16E+14

665 4,51E+14 0,12 1,92E-20 _
635  4,72E+14 022  352E-20 ) aea 54X - 200519
590 5,08E+14 0,34 5,44E-20 1,50E-19 ’ Steigung =
560  5,36E+14 047  7,52E-20 b Planclsches T
480 6,25E+14 0,8 1,28E-19 1,00E-19
5,00E-20
0,00E+00
0,00E+00 1,00E+14 2,00E+14 3,00E+14 4,00E+14 5,00F+14 6,00E+14 7,00E+14
_, -5,00E-20
f g= 4,18E+14 o
lambda_g= 7,18E-07 -1,00E-19
-1,50E-19 Schnittpunkt = )
Grenzfrequenz f_
-2,00E-19 (Licht mit kleinerer
Frequenz kann keine
-2,50E-19 Elektronen auslésen.)

flHz

Achsenabschnitt =
Austrittsarbeit W N

klausur_Q2G_271112_071212_aufg1



